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(1) Attempt any four questions out of six questions

izi et*"*" any additional data if necessary and state it clearl-v

(3) Figures to the right indicate full marks
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e. Kiln 2
Kiin 3&4 mtmufacture 7000 bricks
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a)

b)

l06l
c)

'iniiitoi*'ttuin,rrid+f;actur"s 4000 bricks, of which tzYo ue

i65ffifdCut"ri'9iie'Kiln is selected, and on9 u1i1t il drawn at

1;.tiie$riibabiliiy that the selected brick is defective?

-, :'* lt,

#SmOa.t with respect to equipment downtime' Aiso

1f'ailureCost Profiie
i. 4 1 v.\..!.

[*fittiiion works, averagely 15 nos. in a year for the past 5

standard deviation, variance andfrequency of'r' successes ofthe
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Items

Points given bY qualitY
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locateil in the vicinitY' Aft

5000 bJicks at a time, of \

klyan come ffomthe ) ol

$i investigation, it was ob

vhich 20% are defective.

interpret the same. ' . ,. , '' '
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any work
more than 2 work

the works

for5minutesandTrainYstopsfor4minutes.Assumingttatupihraihsarriv-e', 
): i : . '''" ,

independently of each other, what is the probability that'l' l.'.' -,, .

i. TfainXarriVesbefOfeTrainY ,,," ,ta-,,"'. ..,1^ 
t"',, l,;;tr" ,''li 
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3. a) Explain Griffi's mathematical model lvith a construction example

b)

a)

Data

=
..1);

Comment on the

[08]

[161
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pertaining to a sample of l0 conejetti4ix.&S."usid for q6q
Sr. No. Cement

eontent ,(X) .,,.jjt'.

(kglml).:-i.

:,TY/e" :'
.:1 -_j " "I::"i:.!piio.":,1

-' ,:'('Y),,-,ri 
"fi: ,,;:4il;lra

i.,i-i i. :

N ::: ,";
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] .' .:.. - .. i:

.i--. -'lj: i:::

.".. . ;*
:.'ii .-r

it....U1' "i{,'-r'.-"-a.";

', i;.

en:

1 35j 0A63 -.'.,,,,;,1',3:8u{-i,"r,,.
2 357.".iq.i 0.461 ;:fr".i]3-9Ji"li: ".r:,

3 5,"1,6}1;jt,:; 9.456 rl.1r'*j4qi.4rlsi, j.'"

Aa ,;.' ..,'i'.3..5$" ..t,., .,,,0;460. ' ;.1.$'*;1i..9;?'"",;'.ti
5 ,, 36 f'5JE?:Ippt:rti6i " ",'.:i3.S. i.ii .is ',.i0,446.-"" .1 .-;;i'. ;!*613-:.'.," ,
/-"'. , .:l)' 4;:,.;s?!.7.=",:'; . ,:;0-$6,9,,,'.,; ,,ji' *r,,si#^:+;..r^

;nF,;.:f; r,;'.'g:s5&i.1r; ,;.,,,0.4ru..-,, ,:;',r;,:,' p9 19'. l",ij
i;l;;,fu,1r; i':.rhl;9ft \i it : ,*i*,

:'.0.:4$5;:'.'
,1;',";'4'1.fi" 1i'

.i'"1,lJ;'r"11i
;1,,1i 

"r::,$,.6,.6r;:" 

J.'r j 0,44'4.:, ;n"ffii8rr

and

r coiifficier
' '. ';ii r1

betwe

5.

i'r .. : ").:i. .,:;a " ;ttro{th_ ly*s ti ma ted req u irem ent

i?

i:;$g-,,
j, .b;- i'^: !*' i '.

,.Month
,t

No. of bags required
(in thousand)

';::;r: #.. ii.# Jan 25
.; ..:"'r..:

^, 
, , .-,- 4a .,, Feb 26

Mar 2A

i. , Apr 23

i;'..""' S May 21

6 Jun 15

Jul

I Aug 4

23 minor and 2 major accidents. His average journey is
probability that, if he has embarked on a

construction site, 25 kms from the manufacturing

Find out

r. I

given in question 4 a)

company. On a prestigious

requires certain cem€nt bags for
Rs. 340/bag. The ordering cost is Rs.

of average arnual inventory. Based on
is as follows:
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suppliers have offered discounts on buik purchases as folirrws.
Discounts offered

b)

a)6.

Sr. llo. No. cf bags Discount{,%} ': ,:"!.:..1:
.1.:;' :,.: ';:

i .'' ,' :,,
..: ..':. . -

:: -:': , ;:" .,.
,.f -t' .,.,t'

t" : :,1i. l

" .*- --r. - 1';
.,=".1^'.#1
; " -.ir.-.::'' .l

t
I 50,000 and abcve lq''"
2 3i),000 to 49,999 -?;" "j 

-
20,000 to 29,999 ";:"'.';<..'- -i. I.:u..t:"-"'^' -..

4 10,000 to i 9,999 -.1'.;:'f ,+j.';,,,";'
5.000 to 9,999 ;i;:i'r1g-+.r.=f

6

godown rnanageinent has er{ ihol a^,;"

qrrality
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[041

[12]

i0sl

Sr" No. i '2,"'.j"1t '.i.j":,ri3.'.11"-.,;j,i lj
Period 3 rnonths arrd
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r::' i- :'{il

..::: a"i "ii'*ir
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Freguehe:\L lil3.',' 11. ,:.,

,a,7 2A 6

,,Esliniiite thej iffii,t iig rime, p;:rrlentagr

Ise;the.fol.lb,
l.{tqd ggrcentage idie time of the serv-ei for i0 arrivais.

l&sdss.ji!.-
Arrivals .,.10': 1,t 23 02 ii 28 1.rL)

1Aa4 ?{ 93
,t65 05 6l 86 90 92 li) 79 82

explain the vari tius qr.rilirl, cL)nrrol tools.

mooths and hence is not suitable for the
been thefts associated with over-storage.
were linked rip wirtr the period of *enient,re

equivalent to 1

the order
cost of ;:lrjlj.'tr" 1'i' il){' :lt- r{j ..

If 0"5% of
ina

i.

ii.

out

consiciered

Decide

that the totai

is found to be


